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QUESTION 1

Which of the following conditions are relevant for subtotals in the planning view? Note: There are 2 correct Answers to
this question.

A. Only attribute-based totals can be added to the planning view.

B. The total value can be added before or after the selected attribute.

C. The values of the attribute-based total at the highest attribute level in the planning level can be changed.
D. The total number of attributes that can use subtotals in the planning view can be restricted.

Correct Answer: BD

QUESTION 2

When you promote calculated and approved inventory parameters from SAP IBP for inventory, what other IBP modules
can be receiving them? Note: There are 2 correct Answers to this question.

A. SAP IBP for sales and operations
B. SAP IBP for response and supply
C. SAP IBP for demand

D. DDMRP

Correct Answer:. AB

QUESTION 3

You are working to realign the data due to a recent warehouse closure. What should you be aware of in regards to
configuration of realignment steps? Note: There are 2 correct Answers to this question.

A. The name of the realignment step should be no longer than 20 characters.
B. If a realignment step fails, subsequent steps are not processed.

C. The number of steps in realignment run is limited to 255.

D. The realignment step status must be set to In Review for it to be executed.

Correct Answer: BD

QUESTION 4

You have set up infinite SandOP heuristics for unconstrained planning. What must you do to model inputs as
constraints? Note: There are 2 correct Answers to this question.
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A. Enter transportation lead times.

B. Model adjusted transport receipts.

C. Create product substitutions.

D. Set minimum and maximum lot sizes.

Correct Answer: AB

QUESTION 5

You are reviewing the master data types for supply planning. Which master data types are compound master data
types? Note: There are 2 correct Answers to this question.

A. LOCATIONFR

B. sourcelocation

C. SOURCECUSTOMER
D. SOURCEPRODUCTION

Correct Answer: BC

QUESTION 6

Which of the following key functions are supported by SAP IBP for sales and operations? Note: There are 2 correct
Answers to this question.

A. Manual creation of feasible constrained plans
B. Finite resource planning

C. A basic demand planning process

D. An advanced demand planning process

Correct Answer: BC

QUESTION 7

What function would you use to configure a year-to-date calculation?
A. Cumulative Aggregation

B. Dynamic Rolling Aggregation

C. Rolling Aggregation

D. Last Period Aggregation
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Correct Answer: A

QUESTION 8

You are invited to review a problem with a customer\\'s SAP IBP Excel template performance. What areas with the
biggest potential performance impact would you focus on? Note: There are 2 correct Answers to this question.

A. Number of local members and complexity of calculations
B. Complex calculation graphs for key figures

C. Excessive IBP formatting in Excel Ul

D. Number of analytics charts displaying key figures\\' values

Correct Answer: BC

QUESTION 9

You are redesigning planning for supply chain that is facing the issue of variability. What is the best solution for
dampening variability via demand classification?

A. SAP IBP for Demand

B. SAP IBP for Demand Driven Replenishment
C. SAP IBP for Inventory

D. SAP IBP for Sales and Operations Planning

Correct Answer: C

QUESTION 10

Which of the following can be used as inputs for inventory level optimization? Note: There are 2 correct Answers to this
guestion.

A. Target inventory level
B. Lead time variability
C. Lot sizes

D. Reorder point

Correct Answer: CD

QUESTION 11
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What are the ways to achieve rolling aggregation with SAP IBP?
A. Using attribute as a key figure

B. Using key figure calculation

C. Using local member

D. Using aggregation mode average

Correct Answer: D

QUESTION 12

SAP is transitioning IBP customers to the new process of export/import. What are some of the features of this new

process? Note: There are 2 correct Answers to this question.

A. You can choose to import only some of the items that were exported.
B. You can move a transported item from one collection to another.

C. You can create a collection of items and export it.

D. You can export from a planning area that is on a different release.

Correct Answer: BD

QUESTION 13

Which property of an attribute will allow it to be used as an attribute as a key figure?
A. Type TIMESTAMP

B. Type NAVCHAR

C. Type INTEGER

D. Type DECIMAL

Correct Answer: D

QUESTION 14

Which features apply to quota violations modeled with the optimizer?
A. Quotas require sourcing ratios to be maintained.

B. Min and Max Quotas have to be the same as sourcing ratios.

C. Quota violation cost is maintained as an attribute as a key figure.
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D. Quotas can be modeled for sourcing location, production, and consensus demand.

Correct Answer: A

QUESTION 15

What are some of the available ABC segmentation methods in IBP? Note: There are 2 correct Answers to this question.
A. By Pareto Principle (Sorted and Cumulated %)

B. By Number of Items (Sorted Average)

C. By Number of Items (Sorted Values)

D. By Pareto Principle (Sorted and Calculated Values)

Correct Answer: CD
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